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Paper : Political-Science

Ques # :1

Which one of the following is not a correct component of 'Arthasastra'?
1) Realism

2) Amoral

3) Statecraft

4) Materialism
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Ques # :2

Which one of the following pairs is not correctly matched?
1) Buddha - Dhamma

2) Kautilya - Seven limbs of the state

3) Mahaveer - Nirvana

4) Manu - Welfare State
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Ques # :3

Which one of the following is the treatise from where Swami Dayanand Sarswati borrowed the conception of
monarchy?

1) Arthasastra

2) Manusmriti

3) The Life Divine
4) Anandmatha
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Ques # 4



Match List-1 with List-ll and select the correct
answer by using the codes given below the lists:

List-l List-ll
(a). Dayanand Sarswati (1) Doctrine of Natural Rights
(b). Syed Ahmed Khan (2) Spiritual Nationalism
(c). Aurobindo Ghosh (3) Secular Education and Islamic Theology
(d). Ram Mohan Roy (4) Vedic Revivalism
1) a-4,b-2, c-3, d-1
2) a-4, b-3, c-2, d-1
3) a-2, b-3, c-4, d-1
4) a-3, b-2, c-4, d-1

-l g Tl T fena J= e e | fet & fifad
- -

(a). gaTelg |IXadr (1) IThfae FTEHRT HT HTERON

(b). §Oe 3EAE W (2) HTeATCHE Tsgdle

(c). fdg =9 (3) e faTaT fORTT 9 sTamd R
(d). T Higa 7T (4) 3fea Tefeane

1) a-4,b-2, ¢-3, d-1

2) a-4, b-3, c-2, d-1

3) a-2, b-3, c-4, d-1

4) a-3, b-2, c-4, d-1

Ques # :5

Match List-1 with List-Il and select the correct answer
by using the codes given below the lists:

List-l (Author) List-ll (Book)

(a). Syed Ahmad Khan (1). Satyartha Prakasha

(b). Dayanand Sarswati (2). The Life Divine

(c). Aurobindo Ghosh (3). The Causes of Indian Revolt

(d). Dadabhai Maroji (4). Poverty and Un-British Rule in India
1) a-4, b-3, c-2, d-1
2) a-4, b-2, c-3, d-1

3) a-3, b-4, ¢c-2, d-1
4) a-3, b-1, c-2, d-4

-1 &1 TAere -1l & oA Qv are el T Sgraar §, @el 3R olied

- -
(a). Tag 3EaAG G (1). Gcare! wemrer
(b). eaTele, TXEadr (2). & 5% Stasa
(c). 3fde 9y (3). FroaT 3% sEaa Raee
(d). ErereTs ARSI (4). Wradt vs e-fafeer v s sfEar
1) a-4, b-3, c-2, d-1
2) a-4, b-2, c-3, d-1
3) a-3, b-4, c-2, d-1
4) a-3, b-1, c-2, d-4
Ques # :6

Who among the following is known as an empirical economist rather than a speculative metaphysician?



1) Dayanand Sarswati
2) Jawaharlal Nehru
3) Dadabhai Naroji
4) Mahatma Gandhi
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3) EreTHTS ARG
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Ques # 7

Ram Manohar Lohiya was an advocate of:
1) Decentralized Socialism

2) Orthodox Marxism

3) Guild Socialism

4) Syndicalism
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Ques # :8

Match List-1 with List-ll and select the correct answer
by using the codes given below the lists:

List-l List-lI
(a). Mahatma Gandhi (1) Sarvodaya
(b). Jai Prakash Narain (2) Panchsheel
(c). Jawaharlal Nehru (3) Trusteeship
(d). Vinoba Bhave (4) Total Revolution

1) a-3, b-4, c-2, d-1
2) a-4, b-3, c-2, d-1
3) a-2, b-4, c-3, d-1
4) a-4, b-2, c-1, d-3

-l @ el &1 Fere J R e @8 gt & fifed

- -
(a). AGICAT aTrel (1) \afeT
(D). T WhTA AR (2) g=refrer
(C). STaTEHTe #6® (3) =fEar
(d). fa=iraT 7 (4) O it
1) a-3, b-4, c-2, d-1
2) a-4, b-3, c-2, d-1
3) a-2, b-4, c-3, d-1

4) a-4, b-2, c-1, d-3



Ques # :9

Assertion(A) : Satyagraha is a spiritualized and moralized form of the concept of resistance. Reason(R) :
Because it does not stress on a moral teleology.

1) Both A and R are individually true and R is the correct explanation of A.

2) Both A and R are individually true but R is not the correct explanation of A.
3) A is true but R is false.

4) A is false but R is true.

FrRIITEF FUA(A) : FATIE YA $Y FTURT FT T HTEATAF Ta AfFad) FTa99 §| aH(R) -
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Ques # :10

Which one of the following is not a component of B.R. Ambedkar's ideology?
1) Significance of Man.

2) Rationality.

3) Samata Sama;.

4) Graded Inequality.

T 7 @, 31, e T rFaEHY A faar awy F1 Flaar Favor A &2
D) egfea 1 #geca

2) qéeeTa
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Ques # :11

Which one of the following is not an element of Jawaharlal Nehru's concept of democratic socialism?
1) Planning

2) Economic Equality

3) Conservation

4) Social Change

STATETAT S1§% hI YSATdTTA® GATSAIE T TR H, fAFT & A HiaaT aTayor 18t 82
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2) 31 GHATETAT

3) wgrarg

4) granfore afads

Ques # :12

Who among the following ancient writers is called as the 'Mechiavelli of India'?
1) Kautilya

2) Shukra

3) Manu

4) Brihaspati

fArafafad e dEs & I fFA A1 '9IRa F1 AFaafar Fad 82



D) fifeey
2) o
3) 7157

Y qreata

Ques # :13

The highest end of life according to 'Jainism' is :-
1) Attainment of Power

2) Full Satisfaction

3) Nirvana

4) Earn wealth

AT €3 F IHTAR Saet FT ITdcan q&q ¢ -
D) erfga 3rareT

2>Q§‘fﬁ?—ﬁﬂr

3) faior

) erraTeteT

Ques # :14

Who advocated the concept of 'Partyless Democracy'?
1) Ram Manohar Lohiya

2) Jai Prakash Narain

3) Jawahar Lal Nehru

4) Rajendra Prasad

RT3 R & e e 22
D) g Aee oifear

2) ST YeTer SARTIOT

3) STaTET el g%

4) Troig waTS

Ques # :15

Who authored the book "Marx, Gandhi and Socialism"?
1) Vinoba Bhave

2) Ram Manohar Lohiya

3) Rajendra Prasad

4) Jawahar Lal Nehru

AT, e s AfasH gEaw & AwE FiT 42
D) faxer s1mar

2) 3 AR SfRar

3) Tr5tg e

4) STaTeY STl g

Ques # :16

Who opposed the village as the basic unit of Indian political system in the Constituent Assembly?
1) H.V. Kamath
2) B.R. Ambedkar



3) Jawahar Lal Nehru
4) K.M. Munshi
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Ques # :17

Which aspect of Kautilya's Six fold Policy(Shadgunya Niti) is related to 'Marching'?
1) Asana

2) Vigrah

3) Samsraya

4) Yana

Fifeew Fr wav Afa F7 Hlaar ga7 e F F wEfAT?
D et

2) Ryarg

3) s

4) g7e1

Ques # :18

Who among the following is not connected with the Buddhist tradition:
1) Aswaghosa

2) Nagarjuna

3) Kundacharya

4) Dingnaga

fArAifFa & ¥ Fia sig W @ grafa agi ¢ :
1) 3reqeny
2) STt
3) Frsrary
4) fEaTaATeT

Ques # :19

Consider the following statements regarding Ziauddin Barani: 1. He introduced the concept of Individual in
Indian Poltical Thought. I1. He combined the Islamic idea of Religion with the Turkish idea of Kingship as the
only way to create order in Society.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

S 3= ¥ grafta Reafaf@a ) fFaR AT 1. 37 sRdT tefafas Raa J
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31w ng=tadrg
Daar,aduadry

Ques # :20

The concept 'Jawabit' refers to :-
1) Natural Law

2) Divine Law

3) Eternal Law

4) State Law

Sarfaa #1 fRAgia gFafa g :
D) vrepfa e

2) e repet

3) qmedd Fele

4) T2t

Ques # :21

Identify the incorrect statement regarding Raja Ram Mohan Roy :
1) He supported the moral principles of 'New Testament'.

2) He opposed the Jury System of Justice.

3) He thought that Sanskrit knowledge kept India in dark.

4) He rejected the idol worship.

TSAT I AT AT & Foaety A Yot FoeT HY TgaTfale :
D) sogiar v eersie & Ao Rigidr & aade

2) 3egieY =g T ST Tl a1 AR faRam)

3) 3oTahT WIareT AT fof HEF 1T o $TR FISEHR 3 34
4) egiey HfIYSTT T 3EdRR R

Ques # :22

Among the following, which book is not authored by Swami Dayanand :-
1) Rigvedadibhashya Bhumika

2) Asthadhyayi Bhashya

3) Mahanirvan Tantra

4) Sanskar Vidhi

forifara & & Flerelt gras Tar garee gar e g e @ -
D) aqerfessa sifae

2) arseTear HTST

3) Fgrdtor

1) gehr fafe

Ques # :23

Which Political institution was founded by Sir Syed Ahmed Khan specifically 'to discourage popular political
agitation among Muslims?

1) Muhammadan Anglo-Oriental Defence Association of Upper India
2) United Indian Patriotic Association

3) Muhammadan Political Association

4) British Indian Association



' AHAATA! & S AH I STl Hearer HI galcaTed FIa & A0 X 44 IEAg @ o
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Ques # :24

E.V. Ramaswamy Naicker termed the nationalist demand of Swaraj as :-
1) Manifestation of Self Respect

2) Call for Cultural Humanism

3) Acceptance of Pluralism

4) Conspiracy of local elites

§. ). TATETHY ATIFT o FaTST Y IASCATEY AT FY Fgl -
D) strerasAT 7 fdeaiad

2) HERTdeh HIATE HT TR
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4) YT J3T3T hr ATFTer

Ques # :25

Identify the incorrect statement regarding M.K. Gandhi's 'Hind Swaraj' :
1) It is a response to violent Nationalists.

2) It defines Swaraj as 'Self Government'.

3) It views British Rule as 'Modern Civilization'.

4) It is written in dialogue style.

TA.F A F 1 Reg Fawer & gEaey F Jieqet Fue Ft ggafav
1) 75w Tregarfedt ot Tegeai € |

2) g TSt T EIATEA & F9 H qRANRT A 8 |

3) =1 fafeer Trar @t 3y Taar & w9 7w |
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Ques # :26

The last political party founded by B.R. Ambedkar was :
1) Republican Party of India

2) Independent Labour Party

3) All India Scheduled Castes Federation

4) Dalit Panthers

.3 IFAsHT GERT TR 3w Toreiifas gar ar:
1) Rafeeerst urét 3itw fgar

2) sise dar arst

3) 3ifer $f3a A5Yes FRECH HNAA

4 gfoa deurs

Ques # :27



The concept of 'Rishi Kheti', devised by Vinoba Bhave means:
1) Farming organised by Ashrams

2) Farming without using Bullocks

3) Community Farming

4) Subsistence Farming

faiaT s qarT 9fora w R A & Rgia w13rd 2
1) sarett garT e @

2) it & weT faar @

5 o ach

4) forafg @

Ques # :28

The essence of Jai Prakash Narain's understanding of Democracy is :-
1) Occupational Representation

2) Class Co-operation with change of Heart

3) Revolutionary People's will

4) Anarchism

STAYRTT ARTIYT I AlhaT Y FHAST HT TR &:
D) eqraar¥e yfafafca

2) geg-qRads O 997 - g

3) ShieddT ST - STT

4) IRTSTehaTae

Ques # :29

Consider the following regarding Amartya Sen : L. He appreciates the 'Pereto Optimal'. II. He emphasizes on
the equality of capabilities rather than the equality of resources.

1) Only I is correct.

2) Only II is correct.

3) Both I and II are correct.
4) Neither I, nor II is correct.

A A & Frafta fArafaf@a Fyat ) RaR fAfe : 1L 3 N sgaas fr WEarFa |
11. 3 AT HY AT F TN &TAHT FT FAAT R AT ST & |
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Ques # :30

For which work Amartya Sen was awarded Noble Prize for Economics in the year 1988 ?
1) Formulation of Human Developmeny Index

2) Social Choice Theory

3) Studies in Gender inequalities

4) Economics of Famine

A QT Y 37 5 F17 & FAw ad 1988 3 3reermew 7 Alael [RERR TaTeT fam arar 2
D) #Are1a faerra e &1 fa#Tor



2) graTToies a9 fAgid
3) e AGATAAT3IT T 3T
4) 31eRTer ST 37T

Ques # :31

De-facto sovereignty stands for :
1) Legal sovereignty

2) Actual obedience to commands
3) Popular sovereignty

4) Political sovereignty

T FS[HedT T AT § -

D) Fregett gereedr

2) 31t 1 arEdfdes AT
3) alver T FereredT

4) Irsteffares wardear

Ques # :32

Which one of the following schools argue that the concept of sovereignty be removed from political theory ?
1) Pluralism

2) Idealism

3) Fascism

4) Marxism

et # @ Fiae T 1 9% aF § B Te[HeaT HT FTURON HT AT=ilid (G ¥ T &1 AT ?
D) sgerarg
2) e
3) wrefare
4) FTRYaTe

Ques # :33

According to Subaltern view, the function of the state is to promote the interests of :
1) Dominant Class

2) Marginalized Groups.

3) Ruling Class

4) Elite Class

HeT (AR T9) Y T F IR, TS FT 1 WeHTd ST ¢ :-
D) graemely ast & fat &7 |

2) g1fre o) WS FHETE ¥ Rl # |

3) qmees gt & Tl T |

4) fafarse it & Rt |

Ques # :34

Which one of the following is the method by which the developed countries exercise their influence over the
post-colonial states?

1) Diplomacy
2) Economic Aid



3) Trade
4) Commerce

o 7 & a8 Fiad) ugfa §, 9F Aregsw & Aemreiier 22r, 3ca-3ufaaeard) U= 9¥ 3941 vra
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D) et

2) 3 Tgrar
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1) arforsg

Ques # :35

According to Max Weber, the best type of legitimate authority is :-
1) Traditional

2) Charismatic

3) Legal-rational

4) Legal

AFH A F ITHR, FIASE ST WA :
D qierrera & |

2) AT ¥ |
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Ques # :36

According to Marx, no political system is legitimate unless it;strives,for the :-
1) Emancipation of Man

2) Maintenance of Law and Order.

3) Moral upliftment of Man

4) Good Life

ATFE & HTAR F1E 5t Ao caaear du adi }, 519 a% a5 ao 7 &< :
) e i agf 3 faw |

2) FIeTeT UG SATEAT TS et & FIT |
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Ques # :37

Which one of the following statements convey the meaning of legitimacy ?
1) It means an effective poltical system

2) It means the capacity to produce and maintain a belief that the existing political institutions are the most
appropriate for the society.

3) It means a belief to reform the existing political institutions
4) It means to bring about a change in the process of governance.

et FUAT H T FIFTT 'FeIar &1 3MAT IATATE ?

1) gt arcat gamaemmel Tetelifae caaear g |
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) sgeT dca3 ¢ T emdet T gfshar & aRade o |

Ques # :38

Which of the following pars is not correctly matched?
1) Dejure sovereignty : Legal

2) Defacto sovereignty : Factual

3) Titular sovereignty : One who actually uses the power
4) Popular sovereignty : Power of the people

e & wleran ssT AT 7ET 22

D) faftrasaa d9e1ar - F1ege

2) e FHIET - TAHS

3) ATHUTY VAT - I i ATF T TATY 3 TN AT &
4) e o T - STtelr i arfere

Ques # :39

Which one fo the following methods is the best for the representation of minorities?
1) Proportional representation

2) Single vote system

3) Commulative vote system

4) Proxy system

HeqHETH! & yfafaftca F v, @w & ¥ Flad ggfa aasse § 2
) srepenfers sfRitieT

2) Tehel A OIS

3) ArHfee A ST

4) qRred gomelr

Ques # :40

Who among the following thinkers is regarded as 'the first scientific socialist thinker'?
1) St. Simon

2) Proudhon

3) Robert Owen

4) Karl Marx

AT ARl 7 ¥ 'vyw dfas gATeaK! faRs sla AT Iare 2
D) &g arsaeT

2) gyest

3) Q€ et

4) reT AT

Ques # 41

Assertion(A) : Fascism is the enemyof democracy Reason(R) : It crushes liberty of the individual.
1) Both A and R are individually true and R is the correct explanation of A.

2) Both A and R are individually true but R is not the correct explanation of A.

3) A is true but R is false.

4) A is false but R is true.
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Ques # :42

Match List-A with List-B and select the correct answer using
the codes given below :

List-A List-B
(Thinkers of contemporary Liberalism) (Core Idea)
(A). Isaiah Berlin |. Creative Freedom
(B). F.A. Hayek II. Incremental Change
(C). Karl Fopper lll. Negative Freedom
(D). C.B. Macpherson IV_ Difference between Injustice

and Misfortune

1) A-IIL, B-1V, C-I, D-II
2) A-l, B-11, C-III, D-1V
3) A-I11, B-1V, C-II, D-I
4) A-IL, B-1, C-1V, D-III

FA-A H FeA-BE A gATAT i gur gt & e
few arw el &1 T4 FRd §T el I AT

A w8
(FAFRIA 3GRAE & Aeds) (A feram)
(A). =TT afcter |. TaeicHs Fadadl
(B). T.T. gdh | 3URKE IR
(C). FTel 9T ll. AFRIcHAS TadAd]
(D). T.&r. FAahes V. 37T UG gHET # 3R

1) A-IL, B-IV, C-1, D-I
2) A-I, B-II, C-III, D-IV
3) A-TIL, B-TV, C-I1, D-I
4) A-IL, B-I, C-1V, D-III

Ques # :43

Match List-A with List-B and select the correct
answer using the codes given below :

List-A List-B

(Marxist Thinker) (Core Idea)
(A). Lenin |. Spontaneity of the Masses
(B). Rosa Luxemburg ll. Passive Revolution
(C). Mao-Tse-Tung lll. Venguard of Revolution
(D). Gramsci V. Mass Line

1) A-L B-III, C-II, D-IV
2) A-IIL, B-1, C-TV, D-II
3) A-1V, B-II, C-II, D-1I
4) A-IIL, B-1V, C-II, D-I



TE-A F FE-B & wrr gAfera hiferdr qur gt & e
few arw el &1 vEET FA §U el I|W AT

HqE-A H=-B

(FRERIA 3ERaE & RAeas) (A7 fe=mw)

(A). arfaa | ST T Fad Tl
(B). =T Saratergdr Il ST wifa

(C). AT~ Il. ST &7 A
(D). et V. 5= feam

1)  A-L B-IIL, C-II, D-IV
2)  A-IL B-1, C-1V, D-TI
3)  A-1V, B-IL, C-III, D-I
4)  A-IIL B-1V, C-II, D-I

Ques # :44

Among the following, what is not in conformity with Environmentalism :
1) Spaceship Earth

2) Gaia Hypothesis

3) Cartesian-Newtonian Paradigm

4) Bio-Centric Equality

faraifra & @ 41 qataorare A sregeaar # 7A€t & :
D wqafirg ged

2) FT3TAT qHETAT

3) Fréforae - Fgafaae arfEs

1) Sa »fegd gaar

Ques # :45

Which stream of Feminism underlines that "'Woman's way is the better way' :
1) Radical Feminism

2) Liberal Feminism

3) Socialist Feminism

4) Cultural Feminism

aiare Y Fiad) aRT I8 I@ITFT FId § AT F1UEar IgR TEATR 2
D) 3y aftacrardr aiar

2) 3ERaATE AaTe

3) gHATSTard) ARYaTE

4) Feg o AT

Ques # :46

Consider the following statements regarding Adam Smith : I. He was in favour of Laissez faire, but not in a
Minimal State. II. He supported large number of government programmes in Education, Public Health and
Labour regulations.

1) Only I is correct.

2) Only II is correct.

3) Both I and II are correct.
4) Neither I, nor II is correct.

vsH Ay & grfaa A faf@a wyat o e fIf9 : 1. 3 sreraaivar & garer 9, g
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Ques # :47

Identify the incorrect statement regarding state in Marxist perspective :
1) State is a component of Super Structure of the Society.

2) After the Proletariat Revolution, State will be eliminated forcefully.

3) State is a creation of antagonistic class divisions in the society.

4) State is always dictatorial for the dependent classes.

AFHAIE) TRIET A T § FFafid Jeqel FU= FI ggarav :
D) o gaATST i 31T &7 Uk Heah § |
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4) 3referey gait & T To Gea VARSI @1aT ¥ |

Ques # :48

Consider the following statements regarding Post Colonial State : I. Governability is a continuous and
growing concern. II. It distinguishes a 'Strong' State from a merely 'Despotic' one.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

Fcae-3itufadeas T & GFa= & Aeaifrd Fy«t W fga HIfo : 1. weradhadar e ATaR v
AT FAFR ¢ | 11. T§ TF "FUFT ToF Y 0F "o vea & Raa swar g |

D) draer 1 @8

2) el 11 GET |

3) 1ud 11 St | ]
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Ques # :49

Identify the incorrect statement of Austin on Sovereignty :

1) Only after including the Sovereign, any Society becomes political and free.
2) No abstract nation can be Sovereign.

3) Law is a dictate of Superior authority to Subordinate.

4) There is a difference between De facto and De Jure Sovereignty.

AT R 3T &5 AUt ereT Y T

D) goraearendt afge et TR & IS FATS Tsteii e Td FaeiT g g |
2) IS 37T ROT FHTATURY 6T 81 Hehell ¢ |

3) FIeTeT STTATAHNY STRT IENTE Y 2T 17 U |

4) qeaErAd vd fafteeAd gedear & fg dar g |



Ques # :50

Among the following, what is not related to Hannah Arendt's conception of Power :
1) Creator of Subjectivities

2) Not Power over, but Power to

3) Power as Congent

4) Increased ability due to Collective Actions.

fs=tifFa & @ 47 gt e Y 'AfFT A Fhoqar ¥ Frafa T@i e :
D) streAaweransit i e

2) & IR AT, & ufar afFa

3) ggwch & wa #F afed

Y qrefeeh FIATS & FROT I §S &

Ques # :51

Power legitimized is considered as: -
1) Authority

2) Influence

3) Manipulation

4) Force

der orfFa AT ST & -
1) Hear wfen)

2) g1a

3) TorarsteT

4) g

Ques # :52

The Burke-Paine dispute on Rights was not centered on:-
1) Rights being contextual or Universal

2) Rights being Real or Imagined

3) Rights being Historical or Natural

4) Rights being Economic or Political

IOFRT I -9 Fae Foga adt ar:
D) 3Rt & gestera ar ardaifae @ ax
2) HOFRT & IrEdTAF IT FTefald glel IT
3) stftreRt & ufaerfae a1 wrfas et
4) 3RSHRT & 3T T1 Toifas g W

Ques # :53

What is in conformity with the Marxian conception of Freedom? I. End of Alienation. II. Exposition of Human
Creativity. II1. Allegiance to an Ideology. IV. Self Realization.

1) LI and IV
2) I and IV
3)Iand I
4) 1II only

TIATAT & ATFHIT FhedalT & IHeTeT F41 8 2 1. fafeoeerar 1 37 1. Arerder Teemufiar 6



FfFeafEa) 1. R & gfa f@ser 1v. sreafafy
Dinwamwv

2nua v

3iwdin

4) Sreret 11

Ques # :54

Among the following,who is not related to the 'Equality of Resources' :
1) John Rawls

2) Eric Rakowski

3) Ronald Dworkin

4) Michael Walzer

fawifha & @ Sl ‘gAY Y a7Har § gEEAq Adi g -
D) Siter e

2) ufter Qenreeh

3) QoS galfhet

4) ATghoT dlooR

Ques # :55

The term not connected to the John Rawls Theory of Justice:-
1) Veil of ignorance

2) Lockean Proviso

3) Original Position

4) Lexical priority

St e F g & FFa T ygael 71 &
1) 3re11et ot el

2) AR R

3) et Fearfay

4) faR gdar e

Ques # :56

Identify the incorrect statement regarding the Classical theory of Democracy:
1) It is a type of Guided Democracy.

2) It is a Direct-Participatory Democracy.

3) It serves a Common good,targeted to attain Good Life.

4) It is a Pre-Liberal theory of Democracy.

dihda & R gFaa Rerd & graey & JRqol Fy« Ft gg=nfav
1) gg ERIT erd T T T T § |

2) g Ueh YcheT - ATl oliehaT & |

3) 715 Teshast 3iToTd Fe &1 3R AR T e & QU T ¢ |
4) I Sehc &1 U T4 3ERATET Agid ¢ |

Ques # :57



Match List-A with List-B and select the correct
answer from the codes given below:

List-l List-lI
(Democratic Theory) (Thinkers)
(A) Protective democracy (I} Schumpeter
(B) Developmental Democracy (I J.5. Mill
(C) Democratic Elitism (Ill) Robert Dahl
(D) Pluralist Democracy (V) Jereny Bentham

1)  A-L B-II C-1V, D-TI
2) AL B-IIL C-III, D-IV
3) AL B-I, C-1V, D-III
4)  A-IV, B-II, C-1, D-TII

T-A ST Fe-Ba @rr gafaa Hifad qaor
AT & A few T FHel T U FId §U Fe IW IET

H-A q=-B

(Ao Regi) (Rraw)

(A). Gi&TF dldhda | grediex

(B). fasrrarcHs dighds . or.va.fae

(C). dihdrieser 31fa=leTa . Ta¢ sTEa
(D). Sgerarer e V. ST Jorm

1)  A-L B-III, C-IV, D-I
2) AL B-IL, C-III, D-IV
3) AL B-I, C-IV, D-TII
4)  A-IV, B-II, C-I, D-III

Ques # :58

Consider the statements regarding Marx's views on Democracy : 1. In enlightenment tradition , he visualizes
Democracy as an organic community. II. Bourgeois Democracy opportunistically converts in Bourgeois
Terror.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

dAlhdd WX ATF & R @ I fdd g« W AR SIS : L 9@y - WRT & 3 diFad # TF
HITANF FHGTT & T A 3@ ¥ | 11 T Aefei T FaATEH 3T HTeih A a5 AT |

D aer 1 @8 g

2) el 11 TET &)

3) 1 11 et Y B

DANL TN TEE

Ques # :59

Which one of the following is a model of Representative Democracy ?
1) Polyarchy

2) Plebiscitarian Democracy

3) People's Democracy

4) Totalitarian Democracy



fAwifha & ¥ Fiaa1 v TRAfAeATcA® dihdT FT IR L
l)m

p HIEHH eliehc

3) ST - Sk

4) g fORRaTer dehd

Ques # :60

Identify the teminology, not connected with Deliberative Democracy:
1) Discussion based consensus

2) Pre-fix preferences

3) Open and uncoerced discussions

4) Ideal speech condition

I ATl Y ggaTfaT, FY el AFay @ grafRa adi e :
D) & 92 3menia dgaeh

2) qf - vt e

3) et wd e e

4) 37eet ST gR

Ques # :61

Which of the following countries is the best example of a flexible constitution ?
1) US.A.
2) France
3) Britain
4) China

e GiAeTe T 449 U Aeafaf@d & ¥ laar e d 2
D) wggera v 3l

2) iy

3) Ryeer

4) 1

Ques # :62

Which one of the following is the strongest upper chamber in the world ?
1) Senate (USA)

2) Senate (Canada)

3) House of Lords (Britain)

4) Rajya Sabha(India)

foreer 7 & fored &7 wa® arfFaermed SR wee it 3 2
D dete (@gea Tsa 3@

2) fieie (e

3) &IfS qam (freaT)

4) 5T TAT (IR

Ques # :63



Which one of the following is the treatise wherein the theory of Separation of powers has been formulated ?
1) Introduction to the principles of Morals and Legislations.

2) Representative Government

3) The Spirit of the Laws

4) The Politicus

foer 3 @ a7 7=y e § Srwsl afFa Rsmrera #1 Rgia giagand 2
D gorswert ¢ & Rifduew 3w Alted U3 Afsraeras

2) Ryeteefea araeteie

3) & feaRe 317w et

4) & uifafeswa

Ques # :64

Which one of the following pairs is not properly matched ?

1) Unitary Constitution- A single central government

2) Federal Constitution- Division of powers between the Centre and the States

3) Parliamentary form of government- Prime Minister has a fixed tenure

4) Presidential form of government- President is both the nominal and real executive

e St A @ Flaw Flaw gARRT AE R

1) uehIcHs G - Ueh el TR

2) i Gt - she Td Tl & o AfFaat & searT

3) FEERT emHeT YOI - GeTAAAT & g siwre @ &

4) 3reefiy ATE JUTTel - Iseuta XAt AT T F2ure SR 2T &

Ques # :65

Which one of the following in their constitutions'give to its units the right to secede from the federation ?
1) US.A.

2) Canada

3) India

4) China

vt & & e, 3Tt SR & géall o T & Qo @ o R R 2
D) wogera v 3R &

2) FeATEr o

3) g

4) T

Ques # :66

Which one of the following organs is having the real authority in China ?
1) National People's Congress

2) President

3) Standing Committee

4) Vice-chairman

HieT #, e 39 & ¥ fFuF I aafas Fcarg 2
D) g o1t s

2) qrsgufa

3) Turh wfafa



4) 39 - 3regeT

Ques # :67

Which one of the following statement is correct ?

1) The British Prime Minister can submit a bill to a referendum.
2) The President of China can submit a bill to a referendum.

3) The President of France can submit a bill to a referendum.
4) The President of India can submit a bill to a referendum.

A A A FTar FaT TN E 2

D) frest a1 wenmeraat veh fadas i A e & fore seqd X aFar g |
2) et &1 g U fAUe @ STAdT HIE & forT e I THATE |

3) Wi T T Tk FALRIe @Y ST G & forT Sedd Y ahaT | |

4) R T T U T Y FAAT HIE & T T R T ¢ |

Ques # :68

Which one of the following countries provide for dual citizenship ?
1) Britain
2) France
3) U.S.A.
4) China

foer ot F @ fFeat qawr - amTRear i sqaeur § 2
D e

2) g &

3) Berd T AR F

4 AT &

Ques # :69

Which one of the following organs is regarded as 'the balance wheel of the American Constitution' ?
1) President

2) Supreme Court

3) Senate

4) House of Representatives

fovaet 3at 3 @ 3T Wieer F Wyt T@et AT afgar Hlaar AT AT 2
D) qregufar

2) gafoa =arrad

3)W

4) gfafafer gam

Ques # :70

Assertion (A) : The British Party system is said to be bi-party system. Reason ( R) : This is because in practice
only two parties play a vital role in the national affairs.

1) Both A and R is individually true and R is the correct explanation of A.

2) Both A and R is individually true and R is not the correct explanation of A.
3) A is true but R is false.

4) A is false but R is true.



fereTaqds FU(A) : feet 1 g YUTTel 1 gfagel I YUTTel! F3T AT ¢ | TH(R) : T§ AT, FANF
IaER A TS Frif i Faer &Y gl 1 & 9o7a HfAFT§

D) AGREA T ST H T E TR, A HT TE [adTaT &

2) A g R QT TehTeh! §9 7 T § AT R, A &7 GET [ada 78T &

D ATTE, AfFTRITTE

DATATE, AT RTATE

Ques # :71

"British Parliament can do everything, except make a woman man and a man woman". Who among the
following said this?

1) Bejhot

2) Lord Bryce
3) De Lombe

4) H.J. Laski

"gTdls A UG T Fo F A TaTH ¢ e 3 1 s 3R el B sika @ F|
fArafafaa & ¥ a8 vy« Faarg 2

D) yorte

2)(—,”%-@1%?

3) Srees

4) TS e

Ques # :72

""We are under the constitution, but the constitution.is what the Judges say, it is" Who among the following
said this?

1) Justice Marshal

2) Supreme Court of United States of America

3) Chief Justice of Hughes

4) Lord Bryce

"&H TIAETe & 3refier &, et Giaemsr a8 § S = Fga § ' | Aeafaf@a & 98 9 Faar
g2

D) sifeew aAgier

2) 31 AN FT Fafoa =T

3) s FaTaTeer e

4) s srsw

Ques # :73

The term of the President of United States of America is;
1) Seven years

2) Five Years

3) Four Years

4) Six Years

AR ITSeafer HT FRAFI §;
D araay

2) i ay

3)



IR ay
4)3:3'@

Ques # :74

Which country's President is empowered with discretionary powers?
1) President of United States of America

2) President of France

3) President of Switzerland

4) Monarch of U.K

fFa o & Tsgufa F Tl IRFR Ie=T § 2
D) wrerer o 3mReT & asgafa

2) shi| & Trseuta

3) fegeeRdls & Tseufy

1) gfs & gHE

Ques # :75

The book "The American Presidency" is authored by :
1) Brown. S

2) Corwin. E.S

3) H.J. Laski

4) Wilson. W

& AR FHSH gFaw F AwF FIA 2
D srzet.vw

2) sRfaaT & e

3) Ty AT

4 facaet saey

Ques # :76

Consider the statements regarding Article 1 of the Chinese Constitution. I. The People's Republic of China is a
Socialist State under the People's Democratic Dictatorship. II. This is led by the people of China and based on
the alliance of workers and peasants.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

il WIAUTeT & H7ede 1| @ g FYal W AR AT : 1. sadr F Faard) srfarrsa &
AN, SIS T IR U FATSTATG AT ¢ | 11 SHHT Acfed 1ot Y STl FLcAl § TUT I
Aorgyl Ud ATl & TSNS T AR ¥ |

D &aer1adr g

2) Fael 11 TET &)

3D1war, At @dry|

DAL T 1T

Ques # :77

What among the following is not a feature of French Democracy :



1) Second Ballot System

2) Semi - Presidential System
3) Bi - Cameral Parliament
4) Federalism

faraifrd & ¥ Fa1 A AFaT Hr AT 78T 8 2
D) gfada A9 gomeh

2) 31e}-3regeTTcHS YUTTel

3) efa-Hegers wae

1) gerare

Ques # :78

Identify the group of countries, which are 'One-Party States' :

1) Cuba - Venezuela - Qatar

2) Thailand - Laos - Spain

3) Saudi Arabia - Israel - Western Shara
4) China - North Korea - Vietnam

S S U —
D) gt - degrueaT - e

2) yrgels - 3N - T

3) §3EY 3RS - SIS - UTRTH HERT

4) AN - 3ca] PINAT - A=

Ques # :79

Among the following, which term is not exclusively connected with Federalism :
1) List System

2) Bi-Cameralism

3) Supremacy of the Constitution

4) Principle of Enumeration and Residuum

fraifra 3 ¥ wlad) ereerad 3+ v ¥, Fao Fuae § gEafa a8 E
D) gfer yomelr

2) &Y - HeATcHRhaATE

3) wfaene & gafoaar

4) FoTAT UG 3GV T A

Ques # :80

Identify the incorrect statement regarding Canadian federation

1) Canada was first to combine Parliamentarianism with Federalism.

2) Dominion (Federation) as well as Provinces received their powers from the Constitution.
3) Residuary powers are given to the Federation.

4) Lieuteneant Governor of Provines are elected by the Provincial Assembly.

TSt BV & FFa-y H Jeqot Fue w yg=nfav

1) Sacare = udie O Siige) aTell hellsT Tgell 327 2T |

2) exfaferast(thsere) 3R gid et afdaar Giaure & gred ia & |
3) 3rafirse eferaar hevee I & IS & |

4) great & IU-TreaaTel T faUT=as garT el ala ¥ |




Ques # 81

Identify the term not related to the British Parliamentary System :
1) Checks ad Balances

2) Shadow Cabinet

3) 'They Swim and Sink together'

4) Westminister Model

fafeer GUdY yorrell & 3rafOT ersgrad! #1 YgaIaiv
D) fori=or vd Herst

2) BT ATYATE

3 3 ary - A RS, AR AT - T

4) Jeefierel Algd

Ques # :82

Among the following which is not a feature of American Presidential form of government :
1) Indirect election of the President

2) Collective responsibility of Cabinet towards the Congress

3) Presidential Veto on Congress - Bills

4) Presidential Power to send message to the congress

fArifhd & @ Fiad) 3rFAHHY sreamaTcA® aHa Y fAAvarAgi ¢
D) qrsgafa st srcaet et

2) i & i AfFES 1 AR ScakerHed

3) g & Ogen! W Teeudiy Adenfer

) I P T2l AoTel ST TSCUTA e

Ques # :83

Consider the following statements regarding Montesquieu: 1. Separation of Powers guarantees Individual's
freedom. II. This theory was based on his observations of French Politics.

1) Only I is correct.
2) Only II is correct.
3) Both I and II are correct.
4) Neither I nor II is correct.

AIUEEFY & FFaot A fastiihd FYyal W R HifSd : 1. afed-gusor safFa -warasa 1
YT FXT o 11 T8 RAgTar Wit Toreitell & 3eTah Aaciiehel 9N TR o7

D aer1adr

2) Sael 11 TET &)

31war,  at@dry|

DAL T IENE

Ques # :84

Among the following, which is not related to American House of Representatives :
1) Gerrymandering

2) Park Barrel Legislation

3) Log Rolling

4) Filibuster



fAesifea # ¥ Flaar 3 A Y arefa a8 ¢
D RstsRer

2) 9 R T STaEATIA

3) ifar Qfefar

4) fpfaraee

Ques # :85

Match List-A with List-B and select the correct answer
using codes given below the lists:

List-A List-B
(Basics of Executive Legitimacy) (Related Country)
(&), Presidency independent of Legislature, (1) United kingdom ministry subject to
FParliamentary Confidence
(B). Presidency and Ministry are subject (Il United States of America
to Parliamentary Confidence
(C). Ministry is subject to Parliamentary (lIl) France
Confidence
(D). Presidency is independent of (IV) South Africa
Legislature
1) A-I1, B-1V, C-III, D-I
2) A-III, B-1V, C-1, D-1II
3) A-I, B-III, C-1V, D-1I
4) A-III, B-1, C-II, D-IV

TA-A ST GA-Bah G gaAfeld Hifad aor GEiar & A {e
T el HT FIET K §U Tl 3R I@AT
TE-A q-B

(FHETIfeET & SeAaT w1 ATER) @aiaa o)

(A). f=nfisT & waaa Tegufa, Afwse () TT5es Fhersa
acr fawae & i

(B). Trsgufa g AFASE ey favam {Il}ﬁgﬁmmﬁw
& el

(C). #TaAsw §aay dear & el (1) oy

(D). Iregafa faanfasr & w@aa (IV) féfor 31hient

1) A-IL, B-1V, C-I11, D-I
2) A-IIL B-TV, C-1, D-TI
3) A-L, B-III, C-1V, D-TI
4) A-IIL, B-1, C-II, D-IV

Ques # :86

Which among the following is not a part of China's executive :
1) Central Military Commission

2) The State Council

3) President

4) The National Council

forifea & @ Siaar e Y FRIITorFT FT REAT AL ¢ -
D) & A 3T

2) T3 - gRVE
3)



et
4) I aftwg

Ques # :87

Standing Committe of which National Legislature acts as National Parliament as well as Head of the State and
even like Supreme Court?

1) House of Commons of Canada

2) Federal Assembly of Switzerland

3) National People's Congress of China
4) National Assembly of France

o wedir frenfepr & wurht wfAfa da wwe F arwr TS - yHw ve watew Faery S o
HIH FIAE 2

1) eATar &7 2139 3iTH iAd

2) egesrls fr gy gar

3) et Y TSET A - FAF

) e T TSET FHT

Ques # :88

Identify the incorrect statement regarding Judicial Review in United States of America :

1) It is not expressively mentioned in the Constitution

2) The Supreme Court only reviews that the procedure be followed, not the content of the Procedure.
3) The brief size of the Constitution widens the scope of Judicial Review

4) The Supreme Court avoids reviewing Constitutional amendments.

IFA TS AN H 7T TRaaT & FFaey # 